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3

In which district ‘Gtatue of Unity’ 18

located?

(1) Sabarkantha
(2)
(3)
(4)

Narmada

Rajkot

Dang

Where is the headquarters of World
Bank?

(1) France

(2) Belgium

(3) America

4 Russia

What is the tenure of a Rajya Sabha

member?

W :@ years
) 7years

4years
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(4)

6 years -
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\l; Choose the word opposite in meaning to

the given word :

VALUABLE

W Worthless
(2)  Inferior
(3)  Pasty

(4)  Invaluable

52. Choose the appropriate synonym for

the given word :
(1) Rough
: (2)  Dirty
@) Curved
(4)  Ungraceful -
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54. Spot the error in the given sentenc .

WL@—L}L%

A
one from their sins in the M‘L[iy&r_
B C D
W B
(2) £-C
3 D
4 A
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8. Choose  the alternative  which gy

d
@ Choose the correctly spelt WOT
(\xprt\m:!us the  meaning  of the ) - Vengiess
underlined idiom.
He was tak en_in by his own goft (2) Vangeans
behaviour, (3) Vengeance
( 1) M iﬂtﬁken (4) 'Vengiense
()  Excited |
(3)  Dejected
(4)  Deceived ) PR S
63. Choose the alternative Wi
meaning of the
@ Choose the correctly spelt word
™)  Anonymous -
(2)  Anonymas Bg; e o i
(3)  Ainonymous 'I_‘.-ﬁf ) Feathe i
(4)  Anonimus
60. Choose the word o
‘EXPLICIT

i)

TIII

N1) Obscure =~ SNNEL g
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65. Bl in the blank with suitable E@ Choose the alternative which ¢y b

alternative, substituted for the given sentence,
He was afraid ——— qte. A person who is below the usual heigh¢.
")  having (1) Beggar
(2) on - Q) Dwarf
(3) Small
(3) of being
(4) Draper
(4) tobe

66. Choose the alternative which can be

| substituted for the given sentence -

One who eats human flesh?

(1) Man-eater 1 O 03

(2) Non-vegetarian

]

(3) Cannibal X

(4) Vegetarian

- ¢ Tarwl
@ Choose the appropriate word for

SETD T
given group of words : :

A person who talks continuousl
(1) Bpokesman
(2) Vm | -

) Leguacious
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Excel Hi “Corl4V* é-se g
M1 QU By

(1) sldle sal
(M52 Ve 5241
3) (a5 52 5l

(@) oiles SRy

ctldetiniell sy As 2]luet Qaf W2z (open

source software) 87
(1) MS Office (AHAY-[E)
(2) Tally 4l

(3) Quick heal (515 €la)

(4)  Open office (¥{1Uei 1*11[3%{) .
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DVD < 2414 -wi»tjp@zr el 3o

75

72,

‘Ctrl+V
In MS Excel, the shortcut key ‘Ctrl

18 used

(1)  To delete

(2) To paste selection
(8)  To cut selection

(4) To apply bold formatting

Which of the following is an open
source software?
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1 0etl Mol UL HRS GRI CPUMI NaNdlse | 75. The mathematical calculations in ,

Yesydole w87 CPU are performed by which of the
following compone

(1) VDR ye{le (1) Register unit

S, ALU NP

o
@

nts?

@ Agayle

@ Al (4) Memory unit

Which of the following devices is not

@ AReniell s Slaup el 32l A2 | 76.
used to enter data into a computer?
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MS Excel workbook MiMiet (defauly, d 79. Default MS Excel workbook contains
. efau uxce

aselle w1Q B, worksheets.
N W (1) Three
@ AR 2 Four
@ Q @) Two
@ Viy (4) Five

MS PowerPointdi  §lle U2 24 | go. Format painter tool is available under

Nefui Guasy &l B, — menuin MS PowerPoint.
D QRgAALS (1) Paragraph
@ S8 (2) Drawing
) 54l oS (3) Clipboard
W, . Bl ' (4) Font . bt 201
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81. MS PowerPoint U séla s
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83 MS

windowsell 811 dobeie])

g ‘My
‘omputer peRlsyu Uy ¢

(1) Widows 3.11

(2)  Windows 956

\B6.

STGREIM

(3) Windows 98

(4) Windows 3.1

Adetl it 8 WS ollot-pdse [UoRRe]
Gulea B
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Ng)  AmRR

ol Miell 50 20E £ <l GuAldl sy olS
el H{1as2s 32l a U sal Ul 8l B,

™ Ctl+V
(2) Ctrl+2Z
(3) Ctrl+X
(4) Ctrl+C
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83.

84.

85.

86.

87.

14)

Optical disk?
WVl

was introduced
following

in

1
My (lomputel .
My version of

which of the
MS Windows?

(1) Widows 3.11
(2) Windows 95
(3)  Windows 98

(4)  Windows 3.1

Which of the following is an example
of a non-impact printer?

(1) Inkjet

(2) Dot-matrix
(3) Daisywheel
(4) Laserjet

Which shortcut key is used to paste
the selected data from clipboard?

(1) Ctrl+V
(2) Ctrl+Z
3) Ctrl+X
4) Ctrl+C

A computer system cannot boot, if does
not have

(1) Internet explorer
(2)  Operating system

@) Google chrome
() MS Office

What is the

advantage of an erasable

It is not possible to write on 1t

@ Tty only possible to read from it

®) 1t is only possible to write 00
onee onto it

(4)

. _ _ it by
It is possible to write onto 1t
Crasing again and again

-
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\ sl o e 58 8, i presented in a format that people can
of ok dl At 3 —— ¢ understand and use.
U (1) Graphs
Yo peslel (2)  Information
3) qayelet (3)  Presentation
@) NRES (4) Processed
;_89- Ctrl, Alt 24l Del ol A5 Ule GuAla 89. The Ctrl, Alt and Del keys are used
together
\1 M2z ol sl HLe. (1) To turn off the monitor
e sl W Alddl YAl sl 524 (2) To clear a notification from the
HI2. screen
(3 Shuyea A2 syl L2, (3) To reset the computer
(), shuyei 86l uiEdla (Bele a1, () To delete information in “the
-~ o~ e~ ~_computer
@ . g | | : ._.;'T e .
Sl E \WAW I D
5.1:22!{1 bﬁ;ﬁ S 53 s196a ?ﬂs 90. To move a copy of file Bom one
R A s2alefl ulsu1d o computer to  another o p
commumcatmn channel is ealled‘?'
(1) File transfer B ¢
| fﬂb Fﬂ& nodificatio poMSiRg
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’.92) MS PowerPointHi 5214, 99, control helps to fli?'.p]ny the
Usedfletal Aesatu 3 Wlge HMISHL %l w2 MS PowerPoint presentation i
i 8. landscape or portrait mode.
(1) @S AR (1)  Slide sorter
o). WS W26l (2) Slide orientation
(3)  WLYS 2o (3)  Slide transition
(4) @Es 2 (4)  Slide show

93. o{lA-iell s [aseu “section break” ofl 93. Which of the following is not the

«efl7 section break option?
1) [Mlayy s (1) Previous page
(2 vlsuge (2) 0Odd page

(3) ©del UGy (3) Even page

(4) Ase Usy (4) Next page

94. Word SIsyde2 U2« UM (default) 94. What is the default file extension for

SR all Word documents?
(1) DOC (1) DOC
(2) TXT (2) X
3) FILE 3) JFILE
(1) WRD Lo 1AL
C"’E Ctrl + Right arrow (—>) <l GUull 95. Ctrl+ Right arrow () is used to
1) s As woe el Wiy 4o wdl (1) Move the cursor to one word
Hi right
(2)- 5 S\syNoeeti BidHi @ Al HIR (2) Move the cursor to end of
document
@)y 5224 A5 Wzau16 1A 40 AL HIR @) Move the cursor to ome
Paragraph down
@, 534 @1Fetotl BidHI @® %cll HI2 4 Move the cursor to end of the
line
i o fse 8 b UL T S stabien us o send the st
. ( ( . 0 different persons?
W NEd D Mail merge
(2) fnfia @) Template
(2) 2.&)2.0'&[ (3) References
(4) R () Macros
STGPIM (D ~16)




97.  bedl 56 sled @A Holla wleflers] As sy - ke up one

539 Welld B2 How many colour dots m

. itor?
colour pixel on a monitor:

1) 13
e () 13
2 b

2 5
3 23 " o
4 3 @ 3

@ M5 Bxosll “Wordas® sul 2al (tab) Hi 98. WordArt can be used in MS Exc&fi

Al sy under which tab?
—H1) sl (1) Formulas
~+@2) 3al (2) Data
o ol (3) Insert
4@ Ry 4) Review
. e Ry
99. MS Excel 4 countif() .___*aw-i B 99 The  function  countif)  in
- ."5- ” L‘A .» 5 / - :
MS’Ekcel is a \
(1) RERE]s4 §selel (1) Statistical function >
@) dlzsd sl _ (2)  Logical function k\‘\:‘ c
3)  Weefluilol bsalet (3 Engir |
4) 252 §5elel | (4)
ﬂﬂqmmﬂ Ul '[&&
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1) siofe
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